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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 

TEST XVI – REVISION III – ECONOMICS, INDIAN POLITY, PSYCHOLOGY 

 
1. _________ was the first country to practice economic planning on a national scale 

a. Soviet Russia  b. England  c. Germany  d. India 
nghUshjhu jpl;lkpLjiy Kjd; Kiwahf nray;gLj;jpa ehL  
a. Nrhtpaj; u~;ah b. ,q;fpyhe;J  c. n[h;kdp  d. ,e;jpah  

 
2. Human Development Index measures 

I. Life expectancy at birth   II. Adult Literacy rate    
III. Infant Mortality   IV. Morbidity     
a. I and II are correct   b. II and III are correct  
c. III and IV are correct   d. I,II,III and IV are correct 
kdpjts Kd;Ndw;w FwpaPL $WtJ 
I. tho;T fhy msT  
II. taJ te;Njhhpd; fy;tpawpT  
III. gpwg;G tpfpjk;  
IV. Neha;j;jLg;G  
a. I kw;Wk; II kl;Lk; rhp   b. II kw;Wk; III kl;Lk; rhp 
c. III kw;Wk; IV kl;Lk; rhp  d. I, II, III kw;Wk; IV kl;Lk; rhp  

 
3. Which one of the following is not a direct tax? 

a. Income Tax     b. Wealth Tax 
c. Expenditure Tax    d. Service Tax 
gpd;tUdtw;Ws; vJ Neh;Kf thp my;y?  
a. tUkhd thp     b. nrhj;J thp  
c. nryT thp    d. Nrit thp  

 
4. Match the following:   

A. Monetary policy  1. SEBI 
B. Insurance   2. RBI 
C. Fiscal policy   3. IRDA 
D. Stock market   4. Central Govt. 
nghUj;Jf. 
A. gzf;nfhs;if   1. SEBI 
B. fhg;gPL    2. RBI 
C. epjpf;nfhs;if   3. IRDA 
D. gq;Fr;re;ij   4. kj;jpa murhq;fk; 
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A B C D 
a. 3 1 2 4 
b. 2 3 4 1 
c. 4 1 2 3 
d. 2 4 3 1 

 
5. In India in which plan poverty alleviation is adopted as the explicit objective? 

a. IV Five year plan    b. V Five Year Plan 
c. VI Five Year Plan    d. VII Five year plan 
,e;jpahtpy; tWik xopg;gpid Xh; ntspg;gilahd Nehf;fkhf nfhz;l 
nghUshjhu jpl;lk; vJ? 
a.4-tJ Ie;J Mz;Lj; jpl;lk;   b. 5-tJ Ie;J Mz;Lj; jpl;lk; 
c.6-tJ Ie;J Mz;Lj; jpl;lk;   d. 7-tJ Ie;J Mz;Lj; jpl;lk; 

 
6. Agricultural crop insurance was introduced by Government of India in 

 A. 1986  B. 1984  C. 1985  D. 1989 
tptrha gaph; fhg;gPL Kiwia ,e;jpa murhq;fk; nfhz;L te;j Mz;L vJ? 
A. 1986  B. 1984  C. 1985  D. 1989 

 
7. The Reserve Bank of India Act  passed in  

a. 1921  b. 1925  c. 1929  d. 1934 
,e;jpa ika tq;fpapd; rl;lk; ,aw;wpa tUlk; 
a. 1921  b. 1925  c. 1929  d. 1934 

 
8. Match the following: 

A. Quantitative credit control measure  1. Direct 
B. Qualitative credit control measure  2. Bank rate increased 
C. To control inflation     3. Bank rate decreased 
D. To control deflation     4. Indirect 
rhpahf nghUj;Jf. 
A. fld; msTf; fl;Lg;ghl;L Kiw   1. Neub Kiw 
B. fld; jd;ik fl;Lg;ghl;L Kiw   2. tq;fp tPjk; mjpfhpf;fg;gLk; 
C. gztPf;fj;ij fl;Lg;gLj;j    3. tq;fp tPjk; Fiwf;fg;gLk; 
D. gzthl;lhj;ij fl;Lg;gLj;j   4. kiwKf Kiw 

A B C D 
a.  4 1 2 3 
b.  1 2 3 4 
c.  4 2 1 3 
d.  1 2 4 3 
 

9. Which year is described as the year of the Great Divide? 
a. 1951  b. 1921 c. 1981  d. 1901 
ve;j Mz;il ngUk;gphptpid Mz;L vd fUjg;gLk;?  
a. 1951  b. 1921 c. 1981  d. 1901 
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10. Which industrial policy restructured the public sector and encouraged private 
participation in the economy? 
a. 1817  b. 1960 c. 1990  d. 1991 
ve;j Mz;bd; Gjpa njhopw;nfhs;ifahdJ> nghJ Jiw epWtdq;fspd; kW 
rPuikg;gpidAk; jdpahh;j;Jiw gq;Nfw;igAk; Cf;Ftpj;jd.  
a. 1817  b. 1960 c. 1990  d. 1991 

 
11. In India, disguised unemployment is more prevalenation the  

a. Industrial sector   b. Agricultural sector 
c. Service sector    d. External sector 
,e;jpahtpy; kiwKf Ntiyapd;ik mjpfkhff; fhzg;gLtJ 
a.njhopy;Jiwapy;     b. Ntshz; Jiwapy;  
c. Nrit Jiwapy;      d. mayf Jiwapy; 

 
12. In which of the Industrial Policy Resolution (IPR) the establishment of socialistic 

pattern of society was adopted? 
a. Industrial Policy Resolution of 1948 
b. Industrial Policy Resolution of 1956 
c. Industrial Policy Resolution of 1985 
d. Industrial Policy Resolution of 1991 
ve;j njhopw;nfhs;if jPh;khdj;jpy; “rkjh;k khjphp rKjhaj;ij” Vw;gLj;Jjy; 
vd;gJ Vw;Wf;nfhs;sg;gl;lJ?  
a. 1948 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
b. 1956 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
c. 1985 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
d. 1991 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  

 
13. Which one of the following committee is related to public sector disinvestment? 

A. Narasimman Committee  B. G.V. Ramakrishna Committee 
C. Urjit Patel Committee  D. Jha Committee 
fPNo nfhLf;fg;gl;litfspy; nghJj;Jiw %yjd tpyf;fy; njhlh;ghd FO vJ?  
A. eurpk;kd; fkpl;b    B. [p.tp. uhkfpU~;zh fkpl;b 
C. ch;[pj; gNly; fkpl;b  D. [hfkpl;b  

 
14. In the year 1951, population growth rate is called 

A. Year of Great Divide  B. Year of Population Explosion 
C. Year of Population   D. Year of Small Divide 
1951Mk; Mz;L kf;fs;njhif ngUf;f tPjk; ,t;thW miof;fg;gLfpwJ 
A. ngUk; gphptpid Mz;L  B. kf;fs;njhif ntbg;G Mz;L 
C. kf;fs;njhif Mz;l  D. rpWgpsT Mz;L 

 
15. The sources of Non-Tax Revenue are 

I. Earnings from public enterprises  II. Escheats 
III. Sales tax     IV. Cess 
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From the above which are correct answers? 
a. II and III  b. I and IV  c. I and II  d. III and IV 
e. Answer not known 
thp rhuh tUthapd; Mjhuq;fshtd: 
I. nghJj; Jiw epWtdq;fspd; tUtha;fs;  II. kuz jPh;it 
III. tpw;gid thp       IV. nr]; 
NkNy fz;ltw;Ws; vit rhpahd tpilfs;? 
a. II kw;Wk; III b. I kw;Wk; IV c. I kw;Wk; II  d. III kw;Wk; IV 
e. tpil njhpatpy;iy 

 
16. Match the following: 

Name of the Initiative      Year of Initiation 
A. Human Development Index (HDI)   1. 2000 
B. Gender Related Development Index (GDI)  2. 1997 
C. Human Poverty Index (HPI)    3. 1995 
D. Millennium Development Goals (MDG)  4. 1990 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
FwpaPl;bd; ngah;       cUthf;fg;gl;l Mz;L 
A. kdpj Nkk;ghl;L FwpaPL (HDI)    1. 2000 
B. ghypd-njhlh;ghd Nkk;ghl;L FwpaPL (GDI)  2. 1997 
C. kdpj tWik FwpaPL (HPI)     3. 1995 
D. Mapukhz;L Nkk;ghl;L ,yf;F (MDG)  4. 1990 

A B C D  
a. 1 2 3 4  
b.  4 3 2 1 
c. 3 2 1 4   
d. 2 1 4 3 

 
17. The Instruments of monetary policy are 

I. Bank rate  II. Tax rate  III. Cash reserve ratio 
a. I alone is correct   b. I and II are correct 
c. I and III are correct   d. I, II and III are correct 
gzf; nfhs;ifapd; fUtpfs; 
I. tq;fp tpfpjk;  II. thp tpfpjk;  III. nuhf;f ,Ug;G tpfpjk;  
a. I kl;Lk; rhp    b. I kw;Wk; II kl;Lk; rhp 
c. I kw;Wk; III kl;Lk; rhp   d. I, II kw;Wk; III kl;Lk; rhp 

 
18. Pradhan mantri mudra yojana (PMMY) was introduced on 

A. 8 March, 2015    B. 8 April, 2015 
C. 1May, 2015   D. 15 July, 2015 
gpujk ke;jphpapd; Kj;uh Nah[dh (PMMY) mwpKfg;gLj;jg;gl;l ehs;  
A. 8 khh;r;> 2015   B. 8 Vg;uy;> 2015   
C. 1 Nk> 2015    D. 15 [Piy> 2015 
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19. Which of the following two products are excluded from the ambit GST? 
1. Petroleum  2. Cotton  3. Steel  4. Tobacco 
a. 1 and 4 only  b. 2 and 3 only  c. 1 and 3 only   d. 2 and 4 only 
fPNo fhzg;gLk; nghUs;fspy;> nghUs;fs; kw;Wk; Nritfs; thpapypUe;J 
jtph;f;fg;gl;l ,uz;L nghUl;fs; vit? 
1. ngl;Nuhypak; 2. gUj;jp  3. v/F  4. Gifapiy 
a. 1 kw;Wk; 4 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;    d. 2 kw;Wk; 4 kl;Lk; 

 
20. Which of the following are denotes the meaning of Goods and Services Tax? 

1. It is a consolidated indirect tax 
2. It is a single unified tax 
3. It is imposed only by Central Government 
4. it is payable at final point of consumption 
a. 1 and 3 only    b. 1, 2 and 3 only 
c. 2, 3 and 4 only    d. 1, 2 and 4 only 
fPo;fz;ltw;Ws; nghUl;fs; kw;Wk; Nritfs; thp vd;gjd; nghUs; ahit? 
1. ,J kiwKf thpapd; njhFg;ghFk; 
2. xNu khjphpahd jdp thpahFk; 
3. kj;jpa murhy; kl;LNk tpjpf;fg;gLtjhFk; 
4. Efu;T ,Wjpg; Gs;spapy; nrYj;jtjhFk; 
a. 1 kw;Wk; 3 kl;Lk;   b. 1> 2 kw;Wk; 3 kl;Lk; 
c. 2> 3 kw;Wk; 4 kl;Lk;   d. 1> 2 kw;Wk; 4 kl;Lk; 

 
21. The first blue print for Indian planning came from an engineer administrator 

a. M. Visvesvaraya  b. Nehru c. S.N. Agarwal d. M.N. Roy  
,e;jpahtpd; jpl;lkplYf;fhd tiuglq;fs; Kjypy; ve;j nghwpahsh; 
eph;thfpaplkpUe;J te;jd 
a. M. tp];Nt];tuah b. NeU c. S.N. mfh;thy;  d. M.N uha;  
  

22. Assertion (A) : Ramachandra Guha calls Kumarappa as “Green Gandhian”. 
Reason (R) : Kumarappa was the founder of modern environmentalism in India. 
a. (A) is true, (R) is false. 
b. Both (A) and (R) are true and (R) is the correct explanation to (A) 
c. (A) is false, (R) is true.  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
$w;W (A) : ,uhkr;re;jpu Ffh mth;fs; Fkug;ghit ‘gr;ir fhe;jp’ vd;W 
mioj;jhh;. 
fhuzk;(R): Fkug;gh ,e;jpahtpd; Rw;Wr; #oypay; Fwpj;J mbj;jskpl;lhh;. 
a. (A) rhp> Mdhy; (R) jtW.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 
c. (A) jtW Mdhy; (R) rhp.  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y. 
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23. ‘NITI Aayog’ substituted Planning Commission was effect from 
a. January 1, 2015  b. February 2, 2015 
c. January 5, 2018   d. March 15, 2015   
jpl;lf;FOtpw;F khw;whf ‘epjp MNahf;’ eilKiwf;F te;jJ 
a. [dthp 1> 2015  b. gpg;uthp 2> 2015 
c. [dthp 5> 2018   d. khh;r; 15> 2015   

 
24. Match the following: 

A. VAT  1. Multipoint tax with cascading effect 
B. GST  2. One point tax without cascading effect 
C. Sales Tax 3. Multipoint tax without cascading effect 
D. CGST  4. Collected by the Central Government for Interstate sale 
D. IGST  5. Collected by the Central Government on an intra-State sale 
gpd;tUgtdtw;iw nghUj;Jf: 
A. VAT  1. mbj;js tpisTs;s gy;Kid thpahFk; 
B. GST  2. mbj;js tpistpy;yhj xU Kid thpahFk; 
C. tpw;gidthp 3. mbj;js tpistpy;yhj gy;Kid thpahFk; 
D. CGST  4. khepy muRfSf;F ,ilNaahd tpw;gidapy;  
E. IGST  5. khepyj;jpw;Fs;Ns eilngWfpw tpw;gidapy; kj;jpa  

murhy; t#ypf;fg;gLtjhFk; 
A B C D E 

a. 1 2 4 5 3 
b.  3 2 1 5 4 
c. 4 3 1 2 5 
d. 2 1 3 5 4 

 
25. What does ‘BIMARU’ implies? 

a. States with the lowest birth rates 
b. States with the Highest mortality rates 
c. The most populous states 
d. The least populous states 
e. Answer not known 
‘BIMARU’ vd;gJ vij Fwpf;fpwJ? 
a. Fiwe;j gpwg;G tpfpjj;ij nfhz;l khepyq;fs; 
b. mjpf ,wg;G tpfpjj;ij nfhz;l khepyq;fs; 
c. mjpf kf;fs; njhif nfhz;l khepyq;fs; 
d. Fiwe;j kf;fs; njhif nfhz;l khepyq;fs; 
e.  tpil njhpatpy;iy 

 
26. Choose the correct statements. 

I. Inflation refers to the prices are rising, the value of money will fall. 
II. Deflation refers to the prices are falling, the value of money will decrease. 
a. I, II are correct   b. I only is correct 
c. II only is correct  d. I, II are incorrect 
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rhpahd $w;wpidf; fz;lwpf 
I. gztPf;fk; vd;gJ tpiyfs; cah;e;J> gzj;jpd; kjpg;G tPo;r;rpailtijf; 

Fwpf;Fk; 
II. gzthl;lk; vd;gJ tpiyfs; Fiwe;J gzj;jpd; kjpg;G Fiwtijf; Fwpf;Fk; 
a. I, II rhp  b. I kl;Lk; rhp  c. II kl;Lk; rhp d. I, II jtW 
  

27. The Government of India announced demonetization of all `500 and `1000 bank 
notes against Black money on _____. 
a. 8 November, 2016  b. 7 November, 2016 
c. 12 November, 2016  d. 18 November, 2016 
,e;jpa murhq;fk; fUg;G gzj;jpw;F vjpuhf midj;J &.500 kw;Wk; & 1000 
Nehl;Lf;fis gzkjpg;gpog;G nra;j ehs; _____. 
a. 8 etk;gu;> 2016   b. 7 etk;gu;> 2016 
c. 12 etk;gu;> 2016  d. 18 etk;gu;> 2016 
 

28. As per 2017 data, which of the following is/are correct? 
i. Maharatna Industries – 8 
ii. Navratna Industries – 19 
iii. Miniratna Industries - 74 
a. i, ii, iii  b. i, ii   c. i, iii   d. ii, iii   
gpd;tUtdtw;Ws;> 2017- Gs;sptptug;gb rupahdit vit? 
i. kfhuj;dh njhopy;fs; - 8 
ii. etuj;dh njhopy;fs; - 19 
iii. kpdpuj;dh njhopy;fs; - 74 
a. i, ii, iii  b. i, ii    c. i, iii  d. ii, iii   

 
29. The concept of national income was first introduced by 

a. J.M. Keynes  b. Samuelson c. Simon Kuznets  d. Fisher 
Njrpa tUtha; vDk; fUj;JUit Kjypy; mwpKfg;gLj;jpatu; _____. 
a. J.M. fPd;]; b. rhKNty;rd;  c. irkd; F~;nel;];  d. gp~u; 
 

30. The Automated Teller Machine was first introduced in the year _______ 
a. 1961  b. 1967   c. 1969   
d. 1972  e. Answer not known 
jhdpaq;fp gzk; toq;Fk; ,ae;jpuKiw mwpKfg;gLj;jg;gl;l Mz;L. 
a. 1961  b. 1967   c. 1969   
d. 1972  e. tpil njhpatpy;iy 

 
31. Which statement is correct for Indian planning commission? 

I. It is not defined in Indian Constitution 
II. Members and Vice – Chairman of it do not have fixed working Duration 
III. Members do not require any minimum education 
IV. Vice – Chairman should be appointed by the Prime minister 
a. I and II b. I and III  c. I, II, III and IV  d. I and IV 
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fPo;fz;l $w;wpy; ,e;jpa jpl;lf; fkp~Df;F vJ rhpahdit?  
I. ,e;jpa murpayikg;Gf;F tiuaWf;fg;gl;lit my;y  
II. cWg;gpdh;fs; kw;Wk; cjtpj; jiyth; epue;ju Copah;fs; my;y  
III. cWg;gpdh;fSf;F Fiwe;jsT fy;tpj;juk; Ntz;bajpy;iy 
IV. cjtpj; jiytiu epakpg;gJ gpujkke;jphp  
a. I kw;Wk; II  b. I kw;Wk; III c. I, II, III kw;Wk; IV   d. I kw;Wk; IV  

 
32. According to 2011 census the state having maximum population? 

a. Uttar Pradesh     b. Maharashtra 
c. Tamil Nadu     d. Kerala 
2011 kf;fs; njhif fzf;nfLg;gpd;gb> ve;j khepyj;jpy; kf;fs; njhif mjpfkhf 
cs;sJ? 
a. cj;jpug; gpuNjrk;       b. kfhuh~;buh   
c. jkpo;ehL        d. Nfush 

 
33. Which one has the sole right to issue bank notes of all denominations? 

A. RBI        
B. Ministry of Finance 
C. Cabinet Committee on Economic affairs 
D. Both (A) and (B) 
fPo;fz;ltw;Ws;> ,e;jpahtpy; gzj;ij mr;rpl;L ntspapLk; mjpfhuk; ahUilaJ?  
A. hprh;t; Ngq;f; Mg; ,e;jpah  
B. epjp mikr;rfk;  
C. nghUshjhu tptfhu mikr;rff; FO 
D. A kw;Wk; B 

 
34. Select the followings tax is not a direct tax? 

I. GST  II. Wealth Tax  III. Gift tax 
a. I only  b. I and II only  c. II and III only  d. III only 
fPo;fz;l thp Neub thp my;y 
I. ruf;F kw;Wk; Nrit thp II. nrhj;J thp  III. nfhil thp  
a. I kl;Lk;  b. I kw;Wk; II kl;Lk; c. II kw;Wk; III kl;Lk; d. III kl;Lk; 
 

35. Consider the following statements. 
Assertion (A): Chennai is nicknamed as “The Detroit of Asia”. 
Reason (R): Chennai has the largest number of electronic industries in Asia. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): nrd;id Mrpahtpd; nll;uha;l; vd;W miof;fg;gLfpd;wJ. 
fhuzk; (R): nrd;id MrpahtpNyNa kpf mjpf mstpyhd kpd;dZj; 
njhopw;rhiyfisf; nfhz;Ls;sJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
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b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
 
36. The state with lowest birth rate according to the 2011 census 

a. West Bengal   b. Kerala  c. Karnataka d. Assam 
2011-k; fzf;nfLg;gpd; gb ve;j khepyk; Fiwthd gpwg;G tpfpjk; nfhz;lJ? 
a. Nkw;F tq;fhsk;  b. Nfush   c. fh;ehlfh  d. mrhk; 

 
37. Match the following: 

List I      List II 
a. Population    1. 382 (Per.Sq.km) 
b. Sex ratio     2. 943 (Females per 100) 
c. Decadal growth rate   3. 17.64 
d. Literacy rate    4. 74.04      
nghUj;Jf:  
 gl;bay; I    gl;bay; II (Census 2011)  
A. kf;fs; mlh;j;jp   1. 382 (per sq.km)  
B. ghypd tpfpjk;    2. 943 (100-f;F xU ngz;)  
C. gj;jhz;bd; tsh;r;rp tpfjk;  3. 17.64 
D. fy;tpawpT tpfpjk;   4. 74.04 
 A B  C  D 
a 3 2 1 4 
b 4 2 3 1 
c 3 1 2 4 
d 1 2 3 4 

 
38. Which one of the following statement is not correct? 

I. Rajasthan is the largest state of India in area 
II. Madhya Pradesh is the second largest state in India in area 
III. Maharashtra is the third largest state in India in area 
IV. Karnataka is the fourth largest state in India in area  
a. I  b. II   c. III   d. IV 
fPo;fz;ltw;Ws; jtwhd $w;W vJ? 
I. ,e;jpahtpy; gug;gstpd; mbg;gilapy; kpfg;nghpa khepyk; uh[];jhd; 
II. kj;jpa gpuNjrk; ,uz;lhtJ kpfg;nghpa khepyk; ,e;jpahtpd; gug;gstpy; 
III. kfhuh~;buk; %d;whtJ kpfg;nghpa khepyk; ,e;jpahtpd; gug;gstpy; 
IV. fh;ehlfh ehd;fhtJ kpfg;nghpa khepyk; ,e;jpahtpd; gug;gstpy;  

        a. I  b. II   c. III   d. IV 
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39. Match  List I with List II and select your answer using the codes given below: 
List I      List II  
A. Swayamisidha 1. Training and Employment programme for woman 
B. STEP   2. Access to micro credit and promoting micro enterprises 
C. Swadhar  3. To provide holistic and integrated services to woman 
D. Swalamban  4. To provide training skills to woman for self  

employment 
gl;bay; I I  gl;bay; II  cld; ,izf;fTk;. 
gl;bay; I       gl;bay; II 
A. Rtak;rpj;jh     1. ngz;fSf;fhd Ntiytha;g;G kw;Wk; gapw;rp jpl;lk; 
B. ];nlg;    2. rpWfld; kw;Wk; rpWnjhopy; Kd;Ndw;wk; 
C. RNtjh;    3. KOikahd kw;Wk; xUq;fpize;j Nritia  

ngz;fSf;F toq;Fjy; 
D. RNtyk;gd;  4. ngz;fSf;F gapw;rp kw;Wk; Ranjhopypy; Gjpa tha;g;G 
    mspg;gJ 

A B C D 
a.  2 1 3 4 
b. 1 2 3 4 
c.  2 1 4 3 
d.  4 1 2 3 

 
40. Match List I with List II:  

List I     List II 
A. Absolute Poverty   1. Insufficient House keeping 
B. Chronic Poverty   2. Sub employment 
C. Secondary Poverty   3. Lack of basic needs 
D. Urban Poverty   4. Structural poverty 
gl;bay; I   I gl;bay; II cld; nghUj;Jf. 
gl;bay; I    gl;bay; II 
A. KO tWik     1. jpwikaw;w FLk;g eph;thfk; 
B. Ke;epiy tWik    2. Ntiy rhh;G 
C. ,uz;lhk; epiy   3. mbg;gil trjpfs; ,y;yhik  
D. efh;Gw tWik   4. mikg;G rhh;e;j tWik  

A B C D 
a.  3 4 1 2 
b. 4 3 2 1 
c.  2 1 3 4 
d.  3 1 2 4 

 
41. GST came into effect on ___ in India. 

A. 29th March 2017  B. 1st July 2017 
C. 29th March 2016  D. 1st July 2016 
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GST ,e;jpahtpy; eilKiwf;F te;jJ 
A. 29 khh;r; 2017   B. 1 [{iy 2017 
C. 29 khh;r; 2016   D. 1 [{iy 2016 
 

42. The Government of India announced a New Industrial policy on 
a. July 24, 1991    b. July 24, 2001   
c. August 24, 1991   d. August 24, 2001 
,e;jpa muR Gjpa njhopy; nfhs;ifia mwptpj;j ehs; 
a. [_iy 24> 1991   b. [_iy 24> 2001 
c. Mf];l; 24> 1991   d. Mf];l; 24> 2001 
 

43. RBI was nationalised in the year 
 A. 1 January 1969    B. 1 January 1959 
 C. 1 January 1949     D. 1 January 1939 

,e;jpa hprh;t; tq;fp Njrpakakhf;fg;gl;l Mz;L  
A. 1 [dthp 1969    B. 1 [dthp 1959  
C. 1 [dthp 1949    D. 1 [dthp 1939  

 
44. The chairman of the fifteenth finance commission of India 

a. A.K.Chanda b. K.C.Pant  c. Y.V.Reddy d. N.K.Singh 
,e;jpahtpd; gjpide;jhtJ epjpf; FOtpd; jiyth; 
a. V.Nf.re;jh b. Nf.rp.ge;j;  c. xa;.tp.nul;b d. vd;.Nf.rpq; 

 
45. First Five year plan Model is 

a. Mahalanobis Model  b. Garibi Hato Model 
c. Nehruvian Model  d. Harrod Domar Model   
Kjy; Ie;jhz;L jpl;lk; ve;j jpl;l khjphpia mbg;gilahf nfhz;lJ 
a. nkfyhNehgp]; khjphp b. fhpgp `l;Nlh khjphp 
c. NeUtpd; khjphp  d. `huhl;-Nlhkhh; khjphp   

 
46. The three British Cabinet Members of the Cabinet Mission 1946. 

a. Pathick Lawrence, Sir Stafford Cripps, AV Alexander 
b. A. V Alexander, Sir Stafford Cripps, Mountbatten 
c. Mountbatten, Pathick Lawrence, AV Alexander 
d. Sir Stafford Cripps, Pathick Lawrence, Mountbatten 
fhgpndl; J}Jf; FO 1946-y; ,lk;ngw;w gphpl;b~; mikr;ruitiar; Nrh;e;j %d;W 
Ngh; 
a.ngjpf;yhud;];> rh; ];lhNghh;L fphpg;];> V.tp.mnyf;rhe;jh; 
b.V.tp.mnyf;rhe;jh;;> rh; ];lhNghh;L fphpg;];> kTz;l; Ngl;ld; 
c. kTz;l; Ngl;ld;> ngjpf;yhud;];> V.tp.mnyf;rhe;jh; 
d. rh; ];lhNghh;L fphpg;];> ngjpf;yhud;];> kTz;l; Ngl;ld; 
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47. The Constituent Assembly took the following time in preparing the constitution 
a. Two years, eleven months, eighteen days 
b. Two years, eight months, eleven days 
c. Two years, eleven months, eight days 
d. Two years, eleven months, eleven days 
murpayikg;G rl;lj;ij ,aw;Wtjw;F murpayikg;G eph;za rig vLj;Jf; 
nfhz;l fhy msT  
a. 2 tUlq;fs;> 11 khjq;fs;> 18 ehl;fs; 
b. 2 tUlq;fs;> 8 khjq;fs;> 11 ehl;fs;  
c. 2 tUlq;fs;> 11 khjq;fs;> 8 ehl;fs; 
d. 2 tUlq;fs;> 11 khjq;fs;> 11 ehl;fs; 

 
48. The doctrine “Basic Features” of Indian constitution was propounded in the 

judgement of  
a. Krishna Swami V. Union of India, 1992 
b. Kesavananda Bharati V. Union of India, 1973 
c. S.R. Bommai V. Union of India, 1994 
d. Kuldip Nayar V. Union of India, 2006 
,e;jpa murpayikg;Gr; rhrdj;jpd; “mbg;gilf; $Wfs;” vDk; Nfhl;ghL ve;j 
tof;fpd; jPh;g;gpy; cUthf;fg;gl;lJ?  
a. fpU~;zRthkp V. ,e;jpa xd;wpak;> 1992  
b. Nfrthde;j ghujp V. ,e;jpa xd;wpak;> 1973 
c. v];.Mh;. nghk;ik V. ,e;jpa xd;wpak;. 1994 
d. Fy;jPg; ehah; V. ,e;jpa xd;wpak;> 2006 

 
49. In which part of the Indian constitution and articles deals with  elections 

a. Part IX, Articles 326 – 328   b. Part XV, Articles 324- 329 
c. Part X, Articles 326- 329   d. Part V, Articles 325- 328  
,e;jpa murpayikg;gpd; ve;j gFjp kw;Wk; cWg;gfs; Njh;jy; gw;wpajhFk; 
a. gFjp IX, cWg;Gfs;  326 – 328  b. gFjp XV, cWg;Gfs;  324- 329 

      c. gFjp X, cWg;Gfs;  326- 329  d. gFjp V, cWg;Gfs; 325- 328 
 
50. Which rule is known as the heart and soul of the Indian Constitution? 

a. Article 30  b. Article 31 c. Article 32 d. Article 33 
,e;jpa murpay; mikg;gpd; ,UjaKk; capUkhf fUjg;gLk; tpjp 
a. tpjp 30   b. tpjp 31  c. tpjp 32  d. tpjp 33 

 
51. The Judiciary was separated from the Executive under which article 

A. Article 50 B. Article 64 C. Article 60 D. Article 51 
ePjp JiwahdJ eph;thf Jiwaplk; ,Ue;J ve;j fPo;fz;l rl;l cWg;G %yk; 
gphpf;fg;gl;lJ?  
A. rl;l cWg;G 50  B. rl;l cWg;G 64 
C. rl;l cWg;G 60  D. rl;l cWg;G 51 
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52. Which one of the following statements is/are correct? 
1. The President of India is the head of the State 
2. All executive powers of the Union are vested by the President 
a. Only 1  b. Only 2  c. 1, 2 both  d. 1, 2 both are incorrect 
gpd;tUtdtw;Ws; rhpahdij njhpT nra;f.  
1. FbauRj; jiyth; ehl;bd; jiyth; Mthh; 
2. ehl;bd; eph;thf Mjpfhuq;fs; ahTk; FbauRj; jiythplk; cs;sJ 
a. 1 kl;Lk;     b. 2 kl;Lk;   
c. 1 kw;Wk; 2 kl;Lk;   d. 1 kw;Wk; 2 jtwhdit  

 
53. How many members are nominated for Rajya Sabha? 

a. 10   b. 11   c. 12   d. 13 
uh[;a rghtpw;F xJf;fg;gl;l ghpe;Jiuf;fg;gLk; cWg;gpdh;fs; vj;jid?  
a. 10   b. 11   c. 12   d. 13 

 
54. District Judges are appointed by 

a. Governor b. Chief Minister  c. President  d. Prime Minister 
khtl;l ePjpgjpfis epakpg;gJ  
a. MSeh;  b. Kjy; mikr;rh; c. FbauRj; jiyth; d. gpujkh;  

 
55. The Inter-State council was established in the year 

a. 1988   b. 1989   c. 1990  d. 1991 
khepyq;fSf;fpilNaahd FO Vw;gLj;jg;gl;l Mz;L  
a. 1988   b. 1989   c. 1990  d. 1991 

 
56. Who appoints the Chief election commissioners of India? 

a. The President of India   b. Prime minister of India 
c. Chief justice of India    d. Chief secretary of India 
,e;jpahtpd; jiyik Njh;jy; Mizaiu epakpg;gJ ahh;? 
a. ,e;jpa [dhjpgjp       b.,e;jpa gpujkh;   
c. ,e;jpa jiyik ePjpgjp     d.,e;jpa jiyik nrayhsh; 

 
57. The Comptroller and Auditor General is appointed by the President of India 

under which Article 
 A. Article 162 B. Article 148 C. Article 153 D. Article 174 

,e;jpa jiyikj; jzpf;ifahsiu ve;j tpjpapd; gb FbauRj; jiyth; epakdk; 
nra;fpwhh;? 
A. tpjp 162  B. tpjp 148  C. tpjp 153  D. tpjp 174 

 
58. State information commission was created by 

a. Right to Information Act, 2005 
b. Information Technology Act, 2000 
c. Whistle Blowers Protection Act, 2011 
d. Sashastra seema Bal Act, 2007 
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khepyj; jfty; Mizaj;ij cUthf;fpaJ 
a. jfty; chpikr; rl;lk;> 2005 
b. jfty; njhopy;El;gr; rl;lk;> 2000 
c. jfty; ntspf;nfhzh;Nthh; ghJfhg;Gr; rl;lk;> 2011 
d. rhrh];j;uh rPkh ghy; rl;lk;> 2007 

 
59. Given below the Prime Ministers who decided to implement the Mandal 

Commission Report? 
a. V.P. Singh    b. Morarji Desai 
c. Rajiv Gandhi    d. Indra Gandhi 
fPo;f;fz;l gpujkh;fspy; kz;ly; fkp~d; mwpf;ifia eilKiwg;gLj;j KbT 
nra;jth; ahh;? 
a. tp.gp. rpq;    b. nkhuh[p Njrha; 
c. uh[Pt; fhe;jp    d. ,e;jpuh fhe;jp 

 
60. The concept of' Judicial Review' was borrowed from  
 A. UK Constitution    B. USA Constitution 
 C. Weimef Constitution of Germany D. Canadian Constitution 

"ePjp Gzuha;T" fUj;JU ________ murpayikg;gpypUe;J ngwg;gl;lJ. 
A. ,q;fpyhe;J murpayikg;G   B. mnkhpf;f murpayikg;G  
C. nta;kh; n[h;kdp murpayikg;G  D. fdlh murpayikg;G 

 
61. Who is the chief legal adviser of the Government of India? 
 A. Chief Justice of India  B. Attorney General of India 
 C. Union Law Minister   D. Cabinet Secretary 

,e;jpa murpd; jiyik rl;l MNyhrfh; ahh;?  
A. cr;rePjpkd;w jiyik ePjpgjp B. kj;jpa murpd; jiyik tof;fwpQh;  
C. kj;jpa rl;l mikr;rh;   D. mikr;rh; FO nrayh;  

 

62. Who among the following elected as a Temporary Chairman of the first meeting 
of the Indian Constitution Assembly? 
a. J.B. Kiripalani   b. Dr. Sachchidananda Sinha 
c. Dr. Rajendra Prasad  d. Dr. B.R. Ambedkar   
,e;jpa murikg;G eph;iza rig –Kjy; $l;lj;jpd; jw;fhypf jiytuhf Njh;T 
nra;ag;gl;lth; ahh;? 
a. N[.gp. fpUgshdp  b. lhf;lh;. rr;rpjhde;j rpd;`h 
c. lhf;lh;.uhN[e;jpu gpurhj; d. lhf;lh;. gp.Mh;. mk;Ngj;fhh;   

 
63. Assertion (A) : The 42nd Constitution Amendment has been referred to as the 

‘Mini Constitution’ 
Reason (R) : It was the bulkiest and most comprehensive amendment. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false. 
d. (A) is false, (R) is true.  
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$w;W (A) : 42tJ murpayikg;G jpUj;jr;rl;lk; xU FW mufpayikg;G vd;W 
Fwpg;gplg;gLfpwJ. 
fhuzk;(R): mjpfkhd tpjpfis nfhz;L xUq;fpizf;fg;gl;l jpUj;jr;rl;lk;. 
a. $w;W (A)k;; fhuzk; (R)k; rhpahditfs; MFk;> fhuzk; (R) $w;W (A)f;fhd 
rhpahd tpsf;fkhFk;. 
b. $w;W (A)k; fhuzk; (R)k; rhpahditfshFk;. Mdhy; fhuzk; (R) $w;W 
(A)f;fhd rhpahf tpsf;ftpy;iy. 
c. (A) $w;W rhp Mdhy; fhuzk; (R) jtW. 
d. (A) $w;W jtW Mdhy; fhuzk; (R) rhp 

 
64. Consider the following statements on Fundamental Duties: 

1. Parliament cannot enforce it by a legislation 
2. It is applicable only to Indian citizens 
3. All Fundamental duties are either moral or civil duties 
4. Paying taxes is a fundamental duty. 
Which of the above statements are true? 
a. 2, 3 and 1 are correct    b. 1, 2, 3 and 4 are correct 
c. 2 and 3 are correct    d. 1, 3 and 4 are correct 
mbg;gilf; flikfis njhlh;ghd fPo;f;fz;l thf;fpaq;fis ftdpf;fTk;  
1. ehlhSkd;wk; rl;lj;jpd; %yk; ,ij mky;gLJ;j KbahJ  
2. ,J ,e;jpa Fbkf;fSf;Nf nghUe;Jk;  
3. midj;J mbg;gil flikfSNk xOf;f newpfisNah my;yJ Fbik 

flikfisNah mbg;gilahf nfhz;lit. 
4. muRf;F thpfis nrYj;JtJk; xU mbg;gil flik  
Nkw; $wg;gl;Ls;stw;Ws; vit rhpahdit?  
a. 2, 3 kw;Wk; 1 rhpahdit    b. 1, 2, 3 kw;Wk; 4 rhpahdit  
c. 2 kw;Wk; 3 rhpahdit    d. 1, 3 kw;Wk; 4 rhpahdit  

 
65. Identify the fundamental duty that was added in 2002 by the 86th Amendment 

Act. 
a. Respect National Flag 
b. Defend our country 
c. Develop Scientific Temper 
d. To provide opportunities for education to children between the age of 6-14 

years. 
2002 y; 86 k; murpay; rhrd jpUj;jy; rl;lk; %ykhf Nrh;f;fg;gl;l mbg;gil 
flikia fz;lwpf.  
a. Njrpa nfhbia kjpj;jy;    
b. ekJ ehl;il ghJfhj;jy;  
c. mwptpay; czh;it Nkk;gLj;Jjy;   
d. 6 Kjy; 14 taJ Foe;ijfSf;fhd fy;tp fw;Fk; tha;g;G toq;Fjy;  

 
66. Match the following 

A. Article 39(b)  1. Protection of Ecology, Environment from Pollution 
B. Article 48(A)  2. Equal pay for Equal work 
C. Article 39(d)  3. Free legal aid to the poor 
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D. Article 39(A)  4. Abolished hereditary property 
fPo;fz;ltw;iw nghUj;Jf:  
A. rl;l cWg;G (39 (b)  1. #oypay; kw;Wk; Rw;Wr; #oy; khRghl;bypUe;J  
     ghJfhg;G  
B. rl;l cWg;G 48(A)   2. rk Ntiyf;F rk Cjpak;  
C. rl;l cWg;G 39(d)   3. Vio vspa kf;fSf;F ,ytr rl;l cjtp  
D. rl;l cWg;G 39(A)  4. guk;giu nrhj;Jlik mopj;jy;  
 A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 4 3 2 1 
d. 4 1 3 2 

 
67. Match List I (Article) with List II (Powers of President of India)  

List I      List II 
Art. 53    1. National emergency 
Art. 352    2. Appointment of Prime Minister 
Art. 76    3. Executive power of the Union vested with     
                                                    the President 
Art. 75    4. Appointment of Attorney General of India 
([dhjpgjp gw;wpa) gl;bay; I gl;bay; II cld; xg;gpLf: 
gl;bay; I    gl;bay; II 
tpjp 53    1. Njrpa mtru epiy 
tpjp 352    2. gpujkh; epakdk; 
tpjp 76    3. kj;jpa murpd; ,e;jpahtpd; eph;thf mjpfhuk;  
                        FbauRj; jiythplk; cs;sJ 
tpjp 75    4. ,e;jpa jiyik tof;FiuQh; epakdk; 

A B C D 
a. 1 3 4 2 
b.  3 1 4 2 
c. 3 4 2 1  
d. 4 2 3 1 

 
68. Consider the following statements: 

I. The Constitution of India establishes a Parliamentary form of Government. 
II. Prime Minister is the Head of the Government 
III. President is the Head of the Government 
IV. Real executive power rests with the President of India 
Choose the correct answer from the following: 
a. I and II only true   b. III only correct 
c. II and IV only correct  d. IV only correct 
fPo;fz;l $w;iw fUjTk;  
I. ,e;jpa murpayikg;Gr; rl;lk; ghuhSkd;w murhq;f Kiwia epWtpAs;sJ  
II. gpujkh; murhq;fj;jpd; jiyth; Mthh;  
III. FbauR jiyth; murhq;fj;jpd; jiyth; Mthh;  
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IV. FbauR jiyth; cz;ikahd nrayhl;rp mjpfhuk; nfhz;lth;  
rhpahd tpilia fz;lwpf.  
a. I kw;Wk; II kl;Lk; rhp   b. III kl;Lk; rhp  
c. II kw;Wk; IV kl;Lk; rhp   d. IV kl;Lk; rhp  

 
69. Consider the Articles under 73rd constitutional Amendment Act 1992. 

A. Article 243 A   1. Gram Sabha 
B. Article 243 D   2. Reservation of seats 
C. Article 243 I   3. State Finance Commission 
D. Article 243 K   4. State Election Commission 
73tJ murpayikg;Gj; jpUj;jr; rl;lk; 1992-d; ruj;Jfisf; fUJf.  
A. rl;lf;$W 243 A  1. fpuhk rgh 
B. rl;lf;$W 243 D  2. ,l xJf;fPl;L Kiw  
C. rl;lf;$W 243 I  3. khepy epjpf;FO  
D. rl;lf;$W 243 K  4. khepy Njh;jy; Mizak;  
 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 2 4 3 
d. 2 1 3 4 

 
70. Match following with correct options regarding constitution  

A. First meeting of constituent assembly  1. November 26, 1949 
B. Adoption of constitution     2. 26 January 1950 
C. Constitution came into force    3. 13 December 1946 
D. Introducing objective resolution   4. 9 December 1946 
        5. 13 December 1947 
        6. 9 December 1947 
,e;jpa murpay; mikg;Gr; rl;lk; mbg;gilapyhd fPo;f;fz;l jfty;fis 
nghUj;Jf:  
A. Kjy; murpay; mikg;G rl;l $l;lk;  
   ele;j ehs;       1. etk;gh; 26> 1949 
B. murpay; mikg;Gr; rl;lj;ij Vw;w ehs;   2. [dthp 26> 1950 
C. murpay; mikg;Gr; rl;lk; mky;gLj;jg;gl;l  
   / eilKiwf;F te;j ehs;     3. brk;gh; 13> 1946 
D. Fwpf;Nfhs; jPh;khdk;  mwpKfkhd ehs;   4. brk;gh; 9> 1946 
         5. brk;gh; 13> 1947 
         6. brk;gh; 9> 1947 
 A B C D  
a. 6 1 2 5 
b. 6 2 1 5  
c. 4 1 2 3  
d. 4 2 1 3  
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71. Match the following with correct options.  
A Chairman of drafting committee    1. H.C. Mukkherjee 
B. Permanent President of constituent assembly  2. Prem Behari Narain 

Raizada  
C. Vice-president of assembly     3. Dr. B.R. Ambedkar  
D. Calligrapher of the Indian Constitution   4. Dr. Rajendra Prasad  
nghUj;Jf: 
A. tiuTf; fkpl;bapd; jiyth;  1. H.C. Kf;fh;[p 
B. murpay; mikg;G mitj; jiyth; 2. gpNuk; ng`hp ehuhaz nua;rhlh  
C. mitapd; Jizj; jiyth;  3. Dr. B.R. mk;Ngj;fhh;  
D. tbtikg;ghsh; (murpayikg;G  
   rl;lj;ij vOjpath;)    4. Dr. uhN[e;jpu gpurhj;  

A B C D 
a. 1 3 4 2 
b. 3 4 2 1  
c. 3 2 4 1  
d. 3 4 1 2  

 

72. Consider following statements and choose the correct option.  
I. Jammu and Kashmir under Article 370 has a separate Constitution.  
II. Constitution was adopted on 17 November 1956 and came into force on 26 

January 1957. 
a. I only   b. Both I and II  c. II only   d. None of above  
fPo;f;nfhLj;Js;s jfty;fs; rhpahdjh vdj; Fwpg;gplTk;.  
I. murpay; mikg;Gr; rl;lj;jpd; rl;l$W 370> [k;K fh~;kPUf;fhd jdpg;gl;l 

~uj;Jf;fisf; nfhz;Ls;sJ 
II. etk;gh; 17> 1956y; murpayikg;G rl;lk; Vw;fg;gl;lJ. mJ [dthp 26> 1957y; 

mkYf;F te;jJ.  
a. I kl;Lk;  b. I kw;Wk; II   c. II kl;Lk;  d. VJTkpy;iy  

 

73. Match the following:  
A. Chipko movement    1. Uttarakhand  
B. Appiko movement    2. Karnataka  
C. Bishnoi movement    3. Rajasthan  
D. Silent valley     4. Kerala  
nghUj;Jf. 
A. rpg;Nfh ,af;fk;    1. cj;jufhz;l; 
B. mg;gpf;Nfh ,af;fk;    2. fh;ehlfh 
C. gP];eha; ,af;fk;    3. uh[];jhd; 
D. mikjpg; gs;sj;jhf;F ,af;fk;  4. Nfush 

A B C D 
a. 1 2 3 4 
b. 2 3 4 1  
c. 3 4 1 2  
d. 4 1 2 3 
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74. Match the following 
A. Madras municipal corporation   1. 1757 
B. Lord Ripon’s Resolution    2 1992 
C. Nagarpalika Act    3. 1882 
D. Battle of Plassey     4. 1687 
nghUj;Jf:  
A. nkl;uh]; khefuhl;rp    1. 1757 
B. hpg;gd; gpuGtpd; jPh;khdk;   2. 1992  
C. efh;ghypfh rl;lk;    3. 1882 
D. gpshrpg;Nghh;     4. 1687 
 A B C D  
a. 4 3 2 1  
b. 1 3 2 4  
c. 3 4 2 1  
d. 1 2 3 4 

 
75. Which Articles mention about money Bill in parliament and state legislature? 

a. Art. 110, Art. 199  b. Art. 110, Art. 191   
c. Art 112, Art. 191  d. Art. 112, Art. 189   
ehlhSkd;wk; kw;Wk; khepy rl;lkd;wj;jpy; gz kNrhjh gw;wp Fwpg;gpLk; 
rl;lf;$Wfs; vit? 
a. ruj;J 110, ruj;J 199  b. ruj;J 110, ruj;J 191  
c. ruj;J 112, ruj;J 191  d. ruj;J 112, ruj;J 189  

 
76. Article 51(A) of the Indian Constitution deals 

a. Fundamental Rights   

b. Fundamental Duties 

c. Directive principles of State Policy 

d. Amendment of the constitution 
,e;jpa murpyaikg;G tpjp 51(A) thdJ vijg; gw;wp Fwpg;gpLfpwJ? 
a. mbg;gil chpikfs;  
b. mbg;gil flikfs;  
c. muR topfhl;Lk; newpKiwf; Nfhl;ghL  
d. murpayikg;G rl;l jpUj;jk;  

 
77. The sequence in which the given terms are mentioned in the preamble to the 

constitution of India is: 
a. Sovereign, Socialist, Secular, Democratic, Republic 
b. Socialist, Secular, Sovereign, Democratic, Republic 
c. Secular, Sovereign, Democratic, Socialist, Republic 
d. Sovereign, Democratic, Secular, Socialist, Republic 
murpayikg;gpy; Kfg;Giuapy; Fwpg;gplg;gl;Ls;s nfhs;ifapd; rhpahd thpir.  
a. ,iwahz;ik> rkjh;kk;> rkarhh;gw;w kf;fshl;rp> Fbahl;rp  
b. rkjh;kk;> rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> Fbahl;rp  
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c. rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> rkjh;kk;> Fbahl;rp  
d. ,iwahz;ik> kf;fshl;rp> rkarhh;gw;w> rkjh;kk;> Fbahl;rp 

 
78. The Indian citizenship act was passed on  

a. 1952  b. 1953  c. 1954  d. 1955 
,e;jpa FbAhpik rl;lk; epiwNtw;wg;gl;l Mz;L vJ?  
a. 1952  b. 1953  c. 1954  d. 1955 

 
79. Dr.P.V. Rajamannar Committee, was set up in 1969 

a. To review the Centre – State relations  
b. To study the Kashmir issue 
c. To study the Indo-Sri Lankan issue   
d. To review defence Administration 
1969 –y; Dr.P.V. uh[kd;dhh; FO> Vw;gLj;jg;gl;lJ 
a. kj;jpa – khepy cwTfis Ma;tjw;F 
b. fh~;kPh; gpur;ridia njhpe;J nfhs;tjw;F 
c.,e;jpa ,yq;if gpur;ridia njhptjw;F 
d. ghJfhg;G eph;thfj;ij Ma;tjw;F  
 

80. The right of property was removed from the list fundamental rights by the 
a. 46th Amendment Act 1982   b. 42nd Amendment Act 1976    
c. 44th Amendment Act 1978   d. 47th Amendment Act 1987   
 nrhj;JhpikahdJ mbg;gil chpikfs; gl;baypypUe;J vLf;fg;gl;l 
rl;lj;jpUj;jk;  
a. 46 MtJ jpUj;jr; rl;lk; 1982  b. 42 MtJ jpUj;jr;rl;lk; 1976 
c. 44 MtJ jpUj;jr; rl;lk; 1978 d. 47 MtJ jpUj;jr;rl;lk; 1987 

 

81. Match the following: 
 Schedule    Subject 

A. First Schedule   1. Division of powers between union and states 
B. Eleventh Schedule  2. Languages 
C. Seventh Schedule  3. Names of states and union territories 
D. Eighth Schedule  4. Panchayats 
fPo;f;fz;ltw;iw nghUj;Jf. 
gl;bay;    nghUs; 
A. Kjy; gl;bay;   1. kj;jpa muR kw;Wk; khepyq;fs; ,ilNaahd 

      mjpfhu gfph;T 
B. gjpndhd;whk; gl;bay; 2. nkhopfs;  
C. Vohk; gl;bay;   3. khepyq;fs; kw;Wk; a+dpad; gpuNjrq;fspd; ngah; 
D. vl;lhk; gl;bay;  4. gQ;rhaj;J  

A B C D 
a. 3 4 1 2 
b. 1 3 4 2 
c. 2 1 3 4 
d. 3 1 4 2 
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82. Which one of the following pair is not matched properly? 
 a. National commission for backward class -        1994 
 b. National commission for women               -         1992 
 c. National Human Rights commission        -         1993 
 d. National commission for minorities         -         1993 
 fPo;fz;;ltw;wpy; vit rhpahf nghUe;jtpy;iy? 
 a. gpw;gLj;jg;gl;NlhUf;fhd Njrpa Mizak; - 1994 
 b. kfsph;fhd Njrpa Mizak;   - 1992 
 c. Njrpa kdpj chpik Mizak;   - 1993 
 d. rpWghd;ikapdUf;fhd Njrpa Mizak; - 1993 
 
83. “The Right to information Act’ was passed by parliament on 

A. 20 October 2005  B. 21 October 2005 
C. 25 October 2005  D. 12 October 2005 
‘jfty; mwpAk; chpikr; rl;lk;’ ghuhSkd;wj;jpy; epiwNtw;wg;gl;l ehs; 
A. 20 mf;Nlhgh; 2005  B. 21 mf;Nlhgh; 2005 
C. 25 mf;Nlhgh; 2005  D. 12 mf;Nlhgh; 2005 

 
84. Match the following and choose the correct option 
 a. Berubari Union case   1. 1967 
 b. Kesavananda Bharti case   2. 1980 
 c. Minerva mills case   3. 1973 
 d. Golak Nath case    4. 1960 
 nghUj;Jf:  

gpd;tUtdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;f.  
a. ngUghhp A+dpad; tof;F    1. 1967 
b. Nfrhthde;jh ghujp tof;F   2. 1980 
c. kpdh;th kpy;]; tof;F   3. 1973 
d. Nfhyf;ehj; tof;F     4. 1960  
 a b c d 
A. 4 3 2 1 
B. 2 4 3 1 
C. 4 3 1 2 
D. 3 4 1 2 

 
85. Which article empowers the president of India to promulgates ordinance during 

the recess of the parliament ve;j murpayikg;G tpjp  
A. Art. 120   B. Art. 121  C. Art. 122  D. Art. 123 
ehlhSkd;wj;jpd; $l;lj;njhlh; ,y;yhjNghJ FbauR jiyth; mtru rl;lq;fis 
,aw;w toptFf;fpd;wJ?  
A. Art. 120   B. Art. 121  C. Art. 122  D. Art. 123 
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86. Match the following  
Preamble as      Said by 
A. Political Horoscope    1. Sir Ivor Jennings 
B. Keynote to the Constitution  2. Thakurdas Bhargav 
C. Soul of the Constitution   3. B.R. Ambedkar 
D. Paradise of Lawyers    4. K.M. Munish 
       5. Earnest Barker 
nghUj;Jf:  
 Kfg;Giuapd; gjk;    $wpath;  
A. murpay; [hjfk;     1. rh; Ith; n[d;dpq;  
B. murpayikg;gpd; rhtp    2. jhFh;jh]; gh;ft;  
C. murpayikg;gpd; Md;kh   3. gp.Mh;. mk;Ngj;fh;  
D. tof;fwpQh;fspd; nrhh;f;fk;   4. Nf.vk;. Kd;rp  
       5. vh;d];l; ghh;f;fh;  

A B C D 
a. 1 2 3 4 
b. 2 1 4 5 
c. 4 5 2 1 
d. 1 4 3 2 

 
87. Match the following committees with their purpose of setting up (Panchayat Raj 

Committees) 
Committees     Purpose 
A. L.M. Singhvi Committee  1. Administrative arrangement for rural 

development  
B. G.V.K. Rao Committee  2. Community development Programme 
C. Balwant Rai Mehta Committee 3. Revival and strengthening of Panchayat  

System 
D. Ashok Mehta Committee  4. Revitalisation of Panchayat Raj Institutions 
E. Answer not known 

A B C D 
a. 1 3 2 4 
b. 4 3 2 1 
c.  4 1 2 3 
d.  3 1 4 2 
e.   Answer not known 
fPo;f;fhzg;gLk; FOf;fis mjd; mikg;G Nehf;fj;Jld; nghWj;jTk; (gQ;rhaj;J 
uh[; FO) 
FO     Nehf;fk;  
A. vy;.vk;.rpq;tp FO  1. fpuhkg;Gw Nkk;ghl;Lf;fhd eph;thf Vw;ghL  
B. G.V.K. uht; FO  2. r%f mgptpUj;jp jpl;lk;  
C. gy;te; uha; Nkj;jh FO  3. Gj;Japh; mspj;jy; kw;Wk; gQ;rhaj;J Kiwia  

tYg;gLj;Jjy;  
D. mNrhf; Nkj;jh FO  4. gQ;rhaj;J uh[; epWtdq;fspd; Gj;Japh;  
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A B C D 
a. 1 3 2 4 
b. 4 3 2 1 
c.  4 1 2 3 
d.  3 1 4 2 

 
88. Match following with correct option. 

National symbol    Date of Adoption 
A. National Anthem  1. 2012 
B. Emblem    2. 22 March 1957 
C. Lactobacillus   3.26 January 1950 
D. Calendar   4. 24 January 1950 
 A B C D 
a. 1 2 4 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 3 1 2 
nghUj;Jf:  
Njrpa rpd;dk;    Vw;Wf;nfhs;sg;;gl;l jpdk;  
A. Njrpa fPjk;   1. 2012 
B. rpd;dk;    2. 22 khh;r; 1957 
C. yhf;Nlhg]py];  3. 26 [dthp> 1950  
D. ehl;fhl;b    4. 24 [dthp 1950  
 A B C D 
a. 1 2 4 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 3 1 2 

 
89. Match following with correct options.  
 Provision      Source  

A. Liberty and Equality   1. USSR  
B. Fundamental rights    2. France  
C. Directive principles    3. USA 
D. Fundamental duties   4. Canada  
      5. Ireland  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 
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nghUj;Jf:  
 fUj;J     ve;ehl;bypUe;J nfhs;if Mjhuk;  
      vLj;Jf;nfhs;sg;gl;lJ. 
A. rkj;Jt kw;Wk; Rje;jpuk;  1. USSR 
B. mbg;gil chpikfs;  2. gpuhd;];  
C. muR newpKiwf; Nfhl;ghLfs; 3. (USA) mnkhpf;f If;fpa ehL  
D. mbg;gilf; flikfs;  4. fdlh 
      5. mah;yhe;J  
 A B C D 
a. 1 3 5 4  
b. 2 3 5 1  
c. 2 3 5 4  
d. 2 3 4 1 

 
90. Match following with correct options.  
 Position      Minimum age  

A. President     1. 30 Years  
B. Vice president    2. 25 years  
C. Lok Sabha     3. 35 years  
D. Rajya Sabha     4. 35 years  
 A B C D 
a. 1 3 2 4  
b. 3 1 2 4 
c. 3 4 1 2  
d. 3 4 2 1  
nghUj;Jf: 
 gjtp     Fiwe;j gl;r taJ 
A. FbauRj; jiyth;   1. 30 taJ  
B. FbauRj; Jizj;jiyth;  2. 25 taJ 
C. Nyhf; rgh    3. 35 taJ 
D. uh[;argh    4. 35 taJ  
 A B C D 
a. 1 3 2 4  
b. 3 1 2 4 
c. 3 4 1 2  
d. 3 4 2 1 

 
91. What is the next logical image in the sequence? 

nfhLf;fg;gl;Ls;s ehd;F glq;fspy; ve;j glk; KjypYs;s glthpirapy; 
mLj;jjhf tuf;$baJ vJ?  
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      a          b         c        d   
 

92. What is the next logical image in the sequence? 
nfhLf;fg;gl;Ls;s ehd;F glq;fspy; ve;j glk; KjypYs;s glthpirapy; 
mLj;jjhf tuf;$baJ vJ?  

 
      a        b      c   d  

 
93. In a certain code, '467' means 'leaves are green'-, '485' means 'green is good' and 

'639' means 'they are playing'. Which digit stands for 'leaves' in that code?  
a. 4       b. 6        c.  7        d. 3     
xU Fwpg;gpl;l nkhopapy; ‘467’ vd;gJ ‘leaves are green’ ‘485’ vd;gJ ‘Green is 
good’ ‘639’ vd;gJ ‘They are playing’ mNj nkhopapy; ‘leaves’ vd;gij Fwpf;Fk; 
vz;?  
a. 4       b. 6        c.  7        d. 3     

 
94. If a certain language ‘BUILT’ means ‘5#32@’, and ‘TRIBE’ means ‘@835©’? How 

is ‘RULE’ coded? 
a. 8#2©   b.  92@©   c. 9#@2    d. 9@#2 
xU Fwpg;gpl;l nkhopapy; ‘BUILT’ vd;gJ ‘5#32@’ vd;Wk; ‘TRIBE’ vd;gJ ‘@835©’ 
vd;Wk; Fwpg;gpl;lhy; ‘RULE’ vd;gJ vt;thW vOjyhk;?  
a. 8#2©   b.  92@©   c. 9#@2    d. 9@#2 

 
95. If a certain language ‘DOME ’means ‘8943’ and ‘MEAL’ means ‘4321’? How is 

‘38249’ coded?  
a. FUBNO   b.  UFNBM  c. BNFUE   d. EDAMO 
xU Fwpg;gpl;l nkhopapy; ‘DOME’ vd;gJ ‘8943’ vd;Wk; ‘MEAL’ vd;gJ ‘4321’ 
vdpy; ‘38429’ vijf; Fwpf;Fk;?  
a. FUBNO   b.  UFNBM  c. BNFUE   d. EDAMO 

 
96. If book is called watch, watch is called bag, bag is called dictionary and                     

dictionary is called window, which is used to carry the books?  
a. Dictionary     b. Bag    c.  Book   d. Watch 
Gj;jfk; fbfhukhfTk;> fbfhuk; igahfTk;> ig mfuhjpahfTk;> mfuhjp 
[d;dyhfTk; $wg;gl;lhy; Gj;jfj;ij vLj;jnry;y gad;gLj;JtJ vJ?  
a. mfuhjp  b. ig   c. Gj;jfk;  d. fbfhuk;  
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The following questions are based on the diagram given below. In the 
diagram, the triangle stands for graduates, square stands for membership of 
professional organizations and the circle stands for membership of social 
organizations. Read each statement and find out the appropriate number(s) to 
represent the people covered by the given statement. 
fPo;f;fhZk; glj;jpy; Kf;Nfhzk; gl;ljhhpfisAk;> rJuk; njhopw;rq;f 
cWg;gpdh;fisAk;> tl;lk; r%f rq;f cWg;gpdh;fisAk; Fwpf;fpwJ. vz;fs; 
egh;fspd; vz;zpf;ifahFk;. 

 
 
97. Number of graduates in social organisations?  

njhopw; rq;f cWg;gpdh;fshf kl;Lk; cs;s gl;ljhhpfspd; vz;zpf;if? 
a. 1   b. 5    c. 6    d. 7 

 
98. In each of the following questions, choose the Venn diagram which best 

illustrates the relationship among three given items.  
Elephants, Wolves, animals  
nfhLf;fg;gl;l ntd; glq;fspy; tpdhf;fSf;F Vw;w rhpahd tpilia Njh;e;njL. 
ahidfs;> Xeha;fs;> tpyq;Ffs; 

a.   b.   c.   d.  
 
 
99. Which of the following sets is best represented in the given diagram? 

 
 
 a. Animals, Insects, Cockroaches 
 b. Animals, Male, Females and Hermaphrodites 
 c. States, Districts, Union Territories 
 d. Country, States, Districts 

nfhLf;fg;gl;l tiuglk; gpd;tUk; njhFg;Gfspy; vij Fwpg;gplg;gLfpwJ? 

 
a. tpyq;Ffs;> g+r;rpfs;> fug;ghd; g+r;rpfs; 
b. tpyq;Ffs;> Mz;> ngz;fs; kw;Wk; n`h;kh/g;Nuhill;Lfs; 



 

27 | Page 

 

c. khepyq;fs;> khtl;lq;fs;> a+dpad; gpuNjrq;fs; 
d. ehL> khepyq;fs;> khtl;lq;fs; 

 
100. Dog: Rabies: : Mosquito : ?  

a. Plague   b. Death   c. Malaria   d. Sting 
eha; : uhgP]; : : nfhR : ?  
a. gpNsf;  b. kuzk;   c. kNyhpah  d. nfhLf;F  

 
101. “Grapes” is related to “Fruits” in the same way as “Pepper” is related to 

“_______”. 
a. Spices  b. Cereals   c. Dry Fruits    d. Pulses 
jpuhl;ir vd;gJ goj;Jld; njhlh;GgLj;jpdhy; kpsF vd;gJ mt;tifapy; vjDld; 
xg;Gk;?  
a. krhyh   b. rpWjhdpaq;fs; c. cyh; goq;fs; d. gUg;Gfs;  

 
102. Arrange the given words in a meaningful sequence and then choose the most 

appropriate sequence from amongst the alternatives provided below each 
question. 
1) Table  2) Tree 3) Wood  4) Seed  5) Plant 
a. 4,5,3,2,1   b. 4,5,2,3,1  c. 5,4,3,2,1   d. 3,1,4,5,2 
fPNo nfhLf;fg;gl;Ls;s thh;j;ijfis mh;j;jKs;s thpirapy; tifg;gLj;jp mjd; 
thpiria nfhLf;fg;gl;Ls;s ehd;F tpUg;gq;fspy; njhpT nra;f.  
1. Nkir  2. kuk;  3. kuf;fl;il  4. tpij 5. nrb 
a. 4,5,3,2,1   b. 4,5,2,3,1  c. 5,4,3,2,1   d. 3,1,4,5,2 

 
103. Arrange the given words in a meaningful sequence and then choose the most 

appropriate sequence from amongst the alternatives provided below each 
question. 
1) Milky way  2) Sun  3) Moon  4) Earth  5) Stars 
a. 4,3,2,5,1  b. 3,4,2,1,5  c. 3,4,2,5,1   d. 2,3,4,5,1 
fPNo nfhLf;fg;gl;Ls;s thh;j;ijfis mh;j;jKs;s thpirapy; tifg;gLj;jp mjd; 
thpiria nfhLf;fg;gl;Ls;s ehd;F tpUg;gq;fspy; njhpT nra;f.  
1. ghy;ntsp mz;lk;      2. #hpad;   3. re;jpud;  
4. G+kp   5. el;rj;jpuk;  
a. 4,3,2,5,1  b. 3,4,2,1,5  c. 3,4,2,5,1   d. 2,3,4,5,1 

 
104. Arrange the given words in a Alphabetical order and then choose the most 

appropriate sequence from amongst the alternatives provided below each 
question. 
nfhLf;fg;gl;Ls;s nrhw;fis Mq;fpy thpirg;gb tifg;gLj;jp> nfhLf;fg;gl;l 
ehd;F tpUg;gq;fspy; ,Ue;J rhpahd thpiria njhpT nra;f.  
1) Intrinsic  2) Intrude 3) Intricate  4) Introvert  5) Intrigue 
a. 3,5,1,4,2  b. 3,5,2,4,1  c. 3,5,1,2,4  d. 3,5,4,1,2 
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105. Neelam, who is Deepak's daughter, says to Deepika, "Your mother Rekha is the 
younger sister of my father who is the third child of Ramlal." How is Ramlal 
related to Deepika? 
a. Uncle  b. Father   c. Grandfather d. Father-in-Law 
jPgf;fpd; kfshd ePyk;> jPgpfhtplk;> “uhkpd; %d;whtJ Foe;ijahfpa vd; 
je;ijapd; ,isa rNfhjhp cd; jhahh; Nufh” vd;whh;. uhk; jPgpfhTf;F vd;d 
cwT?  
a. khkh b. je;ij  c. jhj;jh  d. khkdhh; 

 
106. One term in the number series is wrong. Find out the wrong term. 

nfhLf;fg;gl;l vz; njhlh;thpirapy; jtwhf cs;s vz;iz Njh;e;njL. 
196, 169, 144, 121, 80 
a. 80    b. 121   c. 169   d. 196 

 
107. One term in the number series is wrong. Find out the wrong term. 

nfhLf;fg;gl;l vz; njhlh;thpirapy; jtwhf cs;s vz;iz Njh;e;njL. 
 5, 10, 40, 80, 320, 550, 2560 

a. 80    b. 320   c. 550   d. 2560 
 

108. Which figure will complete the image? 
nfhLf;fg;gl;l glk; (x) I epiwT nra;af;$ba glj;ij ehd;F tpUg;gq;fspy; 
,Ue;J Njh;e;njL.  

 
a. 1  b. 2   c. 3  d. 4 

 
109. Which figure will complete the image? 

nfhLf;fg;gl;l glk; (x) I epiwT nra;af;$ba glj;ij ehd;F tpUg;gq;fspy; 
,Ue;J Njh;e;njL.  

 
a. 1  b. 2   c. 3   d. 4 

 
110. The sequence of folding a piece of paper and the manner in which the folded 

paper has been cut is shown in the figures. How would this paper look when 
unfolded? Choose from the option figures A, B, C and D. 
xU fhfpjj;ij kbf;Fk; thpirKiwfSk; mij ntl;Lk; KiwAk; 
nfhLf;fg;gl;Ls;sJ. me;j fhfpjj;ij tphpj;jhy; mJ vt;thW ,Uf;Fk; vd;gij 
nfhLf;fg;gl;l ehd;F glq;fspy; ,Ue;J rhpahd xd;iw Njh;e;njLf;fTk;. 
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a.   b.    c.   d.     
 
 

111. The sequence of folding a piece of paper and the manner in which the folded 
paper has been cut is shown in the figures. How would this paper look when 
unfolded? Choose from the option figures A, B, C and D. 
xU fhfpjj;ij kbf;Fk; thpirKiwfSk; mij ntl;Lk; KiwAk; 
nfhLf;fg;gl;Ls;sJ. me;j fhfpjj;ij tphpj;jhy; mJ vt;thW ,Uf;Fk; vd;gij 
nfhLf;fg;gl;l ehd;F glq;fspy; ,Ue;J rhpahd xd;iw Njh;e;njLf;fTk;. 
 

 
 

a.   b.    c.   d.     
 

112. The sequence of folding a piece of paper and the manner in which the folded 
paper has been cut is shown in the figures. How would this paper look when 
unfolded? Choose from the option figures A, B, C and D. 
xU fhfpjj;ij kbf;Fk; thpirKiwfSk; mij ntl;Lk; KiwAk; 
nfhLf;fg;gl;Ls;sJ. me;j fhfpjj;ij tphpj;jhy; mJ vt;thW ,Uf;Fk; vd;gij 
nfhLf;fg;gl;l ehd;F glq;fspy; ,Ue;J rhpahd xd;iw Njh;e;njLf;fTk;. 

 
 

a.   b.   c.   d.  
 

113. Which figure will complete the image? 
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a.   b.   c.   d.  
nfhLf;fg;gl;l glk; (?) I epiwT nra;af;$ba glj;ij ehd;F tpUg;gq;fspy; 
,Ue;J Njh;e;njL.  

 
 

a.   b.   c.   d.  
 

114. How many dots are there on the dice facing opposite to the one with three dots? 
Use the four different position of a dice are given below: 
xNu gfilapd; ehd;F ntt;NtW epiyfisf; Fwpf;Fk; glk; nfhLf;fg;gl;Ls;sJ. 
%d;W Gs;spfs; cs;s gf;fj;jpw;F vjph;gf;fk; vj;jid Gs;spfs; ,Uf;Fk;?  

 
a. 2   b. 4   c. 5   d. 6 

 
115. Select the letter cluster that can replace the question mark (?) in the following 

series 
AOS, CQU, ?, GUY, IWA 
nfhLf;fg;gl;l njhlh;thpirapy; Nfs;tpf;Fwp cs;s ,lj;ij epug;Gf.  
a. FSX  b. GSW        c. ESW  d. DRV 
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116. Select the letter cluster that can replace the question mark (?) in the following 
series.  
BRH, ZUD,?, VAV, TDR, RGN 
nfhLf;fg;gl;l njhlh;thpirapy; Nfs;tpf;Fwp cs;s ,lj;ij epug;Gf.  
a. XYZ   b. XZY  c. XZZ   d. XXZ 

 
117. In a row of boys, Deepak is seventh from the left and Madhu is twelfth from the 

right. If they interchange their positions, Deepak becomes twenty-second from 
the left. How many boys are there in the row?  
a. 19   b. 31   c. 33   d.  Cannot be determined 
xU thpirapy; tyg;Gwk; ,Ue;J 12tJ ,lj;jpy; ,Uf;Fk; kJtpw;F ,lg;Gwkhf 
VohtJ ,lj;jpy; jPgf; cs;shh;. mth;fs; jq;fs; ,lj;ij ,lkhw;wk; nra;j gpwF 
jPgf; ,lg;Gwj;jpypUe;J 22 Mtjhf ,Ue;jhy;> thpirapy; cs;s nkhj;j egh;fs; 
vj;jid?  
a. 19   b. 31   c. 33   d.  fz;Lgpbf;f ,ayhJ 

 
118. Raman ranks sixteenth from the top and forty ninth from the bottom in a class. 

How many students are there in the class?  
a. 64   b. 65   c. 66   d. cannot be determined 
ukz; xU tFg;gpd; juthpirapy; NkypUe;J gjpdhwhtjhfTk;> filrpapypUe;J 
ehw;gj;J xd;gjhfTk; ,Ug;gpd;> tFg;gpy; cs;s nkhj;j khzth;fspd; vz;zpf;if 
vj;jid?  
a. 64   b. 65   c. 66   d. fz;Lgpbf;f ,ayhJ 

 
119. Anju ranks twelfth in a class of forty-six. What will be her rank from the last? 

a. 33    b. 34    c. 35    d. 37 
ehw;gj;J MW Ngh; cs;s tFg;gpy; mQ;R KjypypUe;J juthpirapy; 
gdpnuz;lhtJ Mthh;. mth; filrpapy; ,Ue;J juthpirapy; vj;jidahtJ egh;?  
a. 33    b. 34    c. 35    d. 37 

 
120. Find the missing term in the series:  
 3, 7, 6, 5, 9, 3, 12, 1, 15, ? 
 a.  18   B. 13   C. -1   D. 3 
 njhlhpd; tpLg;gl;l vz; fhz;f:  
 3, 7, 6, 5, 9, 3, 12, 1, 15, ? 
 a.  18   B. 13   C. -1   D. 3 
 

121. 
2 3 4 5

, , , ,?
5 255 5 5

 

a. 
6

5 5
  b. 

6

25 5
  c. 

6

125
   d. 

7

25  
 

122. 4 K % R T 3 E P # A 7 B 9 D I Q @ 2 8 V U © H J 5 F 1 % 6 M  
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How many such consonants are there in the above arrangement, each of which 
is immediately preceded by a number but not immediately followed by a letter? 
A. One   B. Two  C. Three  D. Four 
4 K % R T 3 E P # A 7 B 9 D I Q @ 2 8 V U © H J 5 F 1 % 6 M  
NkNy cs;s mikg;gpy; vj;jid nka;naOJ;Jf;fs; cs;sd. mit Kd; xU 
vz; cs;sJ. Mdhy; mtw;iw njhlh;e;J xU vOj;J ,y;iy? 
a. One b. Two  c. Three  d. Four 

 
123. If GO = 32, SHE = 49, then SOME will be equal to  

GO = 32, SHE = 49 vdpy; SOME= ? 
a. 56  b. 58  c. 62   d. 64 
 

124. At sunrise, If a person facing towards West, the shadow will be towards his 
a. Front   b. Back  c. Right  d. Left 
#hpa cja Neuj;jpy;> xU egh; Nkw;F jpiria Nehf;fp epd;why; mtuJ epoy; 
vq;F tpOk;?  
a. Kd;Gwk;  b. gpd;Gwk;  c. tyg;gf;fk;  d. ,lg;gf;fk;  

 
125. Y is in the East of X which is in the North of Z. If P is in the South of Z, then in 

which direction of Y, is P? 
a. South   b. North-west  c. West  d. South-west 
Z f;F tljpirapy; x cs;shh;. mtUf;F fpof;F jpirapy; Y cs;shh;. vd;gth; 
Z f;F njw;F jpirapy; ,Ug;gpd; Y d; ve;j jpirapy; P ,Ug;ghh;?  
a. njw;F  b. tlNkw;F  c. Nkw;F  d. njd; Nkw;F 

 
126. 6,0 7,6 8,13 9,21, ?, ?   

a. 10,28   b. 10,29  c. 10,30 d. 10, 40 
  

127. At sunrise, Raj and Nancy are having a conversation standing in front of each 
other. The shadow of Nancy is formed towards the right hand of Raj. What 
direction is Nancy facing? 
a. East   b. West   c. North   d. South 
#hpa cjaj;jpd; NghJ uh[; kw;Wk; ehd;rp vjpnujpNu epd;W ciuahLk; NghJ> 
ehd;rpapd; epoy; uh[pd; tyg;gf;fk; tpOe;jhy;> ehd;rp ve;j jpiria Nehf;fp 
epw;fpwhh;?  
a. fpof;F   b. Nkw;F   c. tlf;F  d. njw;F 

 
128. The figure X is folded to form a box. Choose from amongst the alternatives a., b., 

c. and d., the boxes that are similar to the box formed. 
gpd;tUk; tpdhf;fspy; glk; (x) MdJ kbf;fg;gl;L gfilahf Mf;fg;gLfpwJ. 
nfhLf;fg;gl;Ls;s ehd;F glq;fspy; vJ me;j gfilia xj;Js;sJ vd;W 
Njh;e;njL. 
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      a     b  c         d 

 
129. A girl started walking from her house. She first walked for 3 km towards east, 

then she turned towards north and moved 4 km in that direction. How far is the 
girl away from her house? 
a. 3 km south   b. 3 km north   
c. 5 km west   d. 5 km north-east 
xU ngz; jd;Dila tPl;bypUe;J elf;fj;njhlq;fpdhs;. Kjypy; fpof;F gf;fkhf 
3 fp.kP J}uKk;> gpwF tlf;F jpirapy; jpUk;gp 4 fp.kP. me;j jpirapy; elf;fpwhs;. 
mtd; jw;NghJ tPl;bypUe;J vt;tsT njhiytpy; ,Uf;fpwhd;? 
a. 3 km njw;F   b. 3 km tlf;F 
c. 5 km Nkw;F   d. 5 km tlfpof;F 

 
130. 2Z5, 7Y7, 14X9, 23W11, 34V13, ? 

a. 27u24 b. 45u15  c. 47u15  d. 47v14 
 

131. Select the set of letter that when sequentially placed in the blanks of the given 
letter series will complete the series.  
___bc___ca___aba___c___ca 
nfhLf;fg;gl;l vOj;Jj; njhlh;thpirapy; Nfhbl;l ,lq;fspy; rpy vOj;Jf;fis 
epug;Gk; NghJ> mJ njhlh; thpiria KOikg;gLj;Jk;. mijj; Njh;e;njLf;fTk;. 
a. a b c b b   b. b b b c c  c. b a c b a   d. a b b c c 

 
132. Which of the following interchange of sign would make the given equation 

correct? 
ve;j ,U FwpaPLfis khw;wpaikj;jhy; gpd;tUk; rkd;ghL rhpahFk;? 
64 – 8 × 9 ÷ 8 = 64 
a. + and -  b. ÷ and x   c. + and ÷     d. – and ÷   

 
133. If A means -, B means ÷, C means + and D means x, then 15 B 3 C 24 A 12 D 2 =?  

A vd;gJ -, B vd;gJ ÷, C vd;gJ +, D vd;gJ × vdpy; 15B3C 24 A 12 D 2 = ? 
a. 34    b. 2    c. 5    d. - 2 3 1 
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134. In a March Past, seven persons are standing in a row. Q is standing left to R but 
right to P. O is standing right to N and left to P. Similarly, S is standing right to 
R and left to T. Find out who is standing in the middle,  
a. P    b. Q    c. R    d O 
xU mzptFg;gpy; VO Ngh; xU thpirapy; epd;wdh;. Q vd;gth; R f;F ,lg;GwKk;. 
P f;F tyg;gf;fKk; cs;sdh;. O vd;gth; N f;F tykhfTk; P f;F ,lkhfTk; 
epw;fpwhh;. mNjNghy; S vd;gth; R f;F tykhfTk;> T  f;F ,lkhfTk; epw;fpwhh;. 
ahh; me;j thpirapy; eLtpy; epw;fpwhh;?  

 a. P    b. Q    c. R    d O 
 

135. Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre.  A is 
facing D. C is between A and B. F is between E and A. Who is to the immediate 
left of B?  
a. A    b. C    c. D    d. E 
MW ez;gh;fs; A, B, C, D, E kw;Wk; F tl;l tl;l thpirapy; ikaj;ij Nehf;fp 
mkh;e;Js;sdh;. A vd;gth; D ia Nehf;fpAk;> C vd;gth; A kw;Wk; B f;F eLtpYk;. 
F vd;gth; E kw;Wk; A f;F eLtpYk; mkh;j;Js;sdh;. B vd;tUf;F mLj;jjhf 
,lg;Gwk; mkh;e;J ,Ug;gth; ahh;?  
a. A    b. C    c. D    d. E 

 
136. Reaching the place of meeting on Tuesday 15 minutes before 08.30 hour. Ajay 

found himself half an hour earlier than the man who was 40 minutes late. What 
was the scheduled time of the meeting?  
a. 8.00 hrs.   b. 8.05 hrs.   c. 8.15 hrs.   d. 8.45 hrs. 
m[a; nrt;tha; fhiyapy; 8 : 30 kzpf;F 15 epkplq;fSf;F Kd;ghf ,U 
re;jpg;Gf;Fr; nrd;whh;. mth; me;j re;jpg;Gf;F 40 epkplq;fs; jhkjkhf te;j 
egiutpl miukzp Neuk; Kd;djhf te;J ,Ue;jhy;> me;j re;jpg;G eilngw 
Fwpj;j Neuk; vd;d? 
a. 8.00 hrs.   b. 8.05 hrs.   c. 8.15 hrs.   d. 8.45 hrs. 

 
Q. NO (136 - 140) Read the following information carefully and answer the 
questions that follow: 
Madhu and Shobha are good in Dramatics and Computer Science.  
Anjali and Madhu are good in Computer Science and Physics.  
Anjali, Poonam and Nisha are good in Physics and History.  
Nisha and Anjali are good in Physics and Mathematics.  
Poonam and Shobha are good in History and Dramatics. 
gpd;tUk; jfty;fis gbj;J fPo;f;fhZk; tpdhf;fSf;F tpilaspf;fTk;.  
kJ kw;Wk; Nrhgh> ehlfk; kw;Wk; fzpdp mwtpapay; Njh;e;jth;fs;.  
mQ;rypAk;> kJTk; fzpdp mwptpay; kw;Wk; ,aw;gpaypy; Njh;e;jth;fs;. 
mQ;ryp> g+dk; kw;Wk; ep~h MfpNahh; ,aw;gpay; kw;Wk; tuyhw;wpy; Njh;e;jth;fs;.  
ep~hTk; mQ;rypAk; ,aw;gpay; kw;Wk; fzpjj;jpy; Njh;e;jth;fshth;.  
G+dk; kw;Wk; Nrhgh> tuyhW kw;Wk; ehlfj;jpy; Njh;e;jth;fs;.  
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137. Who is good in Computer Science, History and Dramatics? 
a. Anjali   b. Madhu   c. Shobha   d. Nisha  
fzpdp mwptpay;> tuyhW kw;Wk; ehlfj;jpy; Njh;e;jth;?  
a. mQ;ryp  b. kJ  c. Nrhgh>  d. ep~h 

 
138. Who is good in Physics, Dramatics and Computer Science?  

a. Shobha   b. Poonam   c. Madhu   d. Anjali  
,aw;gpay;> ehlfk; kw;Wk; fzpdp mwptpaypy; Njh;e;jth;?  
a. Nrhgh  b. G+dk;  c. kJ  d. mQ;ryp 

 
139. Who is good in Physics, History and Dramatics? 

a. Poonam   b. Shobha   c. Madhu   d. Anjali 
,aw;gpay;> tuyhW kw;Wk; ehlfj;jpy; Njh;e;jth; ahh;?  
a. G+dk;  b. Nrhgh  c. kJ  d. mQ;ryp 

 
140. Who is good in History, Physics, Computer Science and Mathematics?  

a. Poonam   b. Nisha   c. Madhu   d. Anjali  
tuyhW> ,aw;gpay;> fzpdp mwptpay; kw;Wk; fzpjk; ehd;fpYk; Njh;e;jth; ahh;?  
a. G+dk;  b. ep~h  c. kJ  d. mQ;ryp 
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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 
TEST XVI – REVISION III – ECONOMICS, INDIAN POLITY, PSYCHOLOGY 

 

1 2 3 4 5 6 7 8 9 10 
A A D B B C D A B D 

11 12 13 14 15 16 17 18 19 20 
B B B D C B C B A D 

21 22 23 24 25 26 27 28 29 30 
A B A B C B A C C B 

31 32 33 34 35 36 37 38 39 40 
C A A A B B D D A A 

41 42 43 44 45 46 47 48 49 50 
B A C D D A A B B C 

51 52 53 54 55 56 57 58 59 60 
A C C A C A B A A B 

61 62 63 64 65 66 67 68 69 70 
B B A C D B B A A C 

71 72 73 74 75 76 77 78 79 80 
D B A A A B A D A C 

81 82 83 84 85 86 87 88 89 90 
A A D A D C C D B D 

91 92 93 94 95 96 97 98 99 100 
D D C A D A D A C C 

101 102 103 104 105 106 107 108 109 110 
A B C A C A C A A B 

111 112 113 114 115 116 117 118 119 120 
D D C C C D C A C C 

121 122 123 124 125 126 127 128 129 130 
B C A A D C C D D C 

131 132 133 134 135 136 137 138 139 140 
A D C B B B C C A D 

 
 
 


